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Question Number : 1 Question Id : 7150532296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following is the secondary motive
fooet 3 & aF GRTEE W ¥ -

Options:

Achievement motive

EERIGIRECT

Hunger

Hid

2. % M

Avoidance of pain

gG @ 9iER

Elimination of body wastes

9T & 3raferset v AT

Question Number : 2 Question Id : 7150532297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

“Development 1s a never ending process” identify the relevant principle of

development
‘T v e giear 37 9 & Safid Meud # ggae A |
Options :

Principle of Interrelation

Jiaedee #1 fAeuid

Principle of Continuity

eaTar &1 fagua

2. &

Principle of Integration

3 % UhRIUT &1 FeHid

Principle of Individual differences

g w oATFaId feTar # e

Question Number : 3 Question Id : 7150532298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The second stage 1n Erickson’s Theory of Psychosocial Development 1s
URFEe & HAEATSE A & feuid &1 qadl 3@ ¢ -

Options :

Intimacy Vs Isolation

1233-1?1?IFITE{EHTHS%T~HTIH



Industry Va Inferiority

3T FelTH gletell

Intiative Vs Guilt

gel el 37T drel

Autonomy Vs Shame

4V TOIAdr Je T 2

Question Number : 4 Question Id : 7150532299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to Carl Rogers. behavior 1s influenced by
Frel T & TR, TagR /Y T g ¢ -
Options :
Genetic make up

1. %

Self-concept

HIcH-FIHHUT

Unconscious desires

3 % Tddd sTem



Environment

4 % CiICE]

Question Number : 5 Question Id : 7150532300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following. identify that predicts the future attainment of an individual
with adequate training
fdr & @ 35 gguE FfET S gt gReenr & @ afdd & afasg fi

Iqcifetrar T srfasgartt Fear ¢ -
A) Aptitude

GIERERR])
B) Achievement
Iqeifedy
C) Attitude
siferfa
Choose the correct answer.
Options :
A& C {}11]_1'
g A& C
1. %
C only
5, % Fad C
A {Jlﬂ_v
e A



AB&C

Question Number : 6 Question Id : 7150532301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Army beta test 1s an example for

AT =T IIEToT SYHT 35IEL0T ¢ -

Options :

Verbal group intelligence test

enfecer AFATGS defel qUaTor

Non-verbal group intelligence test

Fenfecsh AHfeF Jef gletor

Individual verbal intelligence test

efedard Afeced aﬁ“r qIEToT

Individual performance test

fadard =saig gdiaTor

Question Number : 7 Question Id : 7150532302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example of Projective Test of Personality

T 7 ¥ 3§ <afdded & 9ardr 996707 FT 3GEL0T «igl o
Options :

Rorschach Ink blot test

IRMF (Rorschach ) TN efeal qdEToT

1. %
Thematic Apperception test
fiddfes (yrafier) iaster giemor
2. %
Children’s Apperception test
aTeT 3iciaiter qaTor
3 %
Minnesota Multiphasic Personality Inventory
4 v ST Felthe Tl sedch

Question Number : 8 Question Id : 7150532303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Learning 1z formation of ‘connection between stimulus and response’ in the
g !

nervous system. according to
Seleh AN Tl o A “Ieaiad 3R gfaiear & dg day” & fAor it g -
Options :

Thorndike



Bandura

Kohler

4 % PIECH

Question Number : 9 Question Id : 7150532304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In this schedule of reinforcement, an individual doesn't know when he i1s going

to be rewarded

gedeeT T 30 gl # afFd # g IaT 78 gar § 6 dg P R g -

Options :

continuopus reinforcement schedule

Add Yelelelel felgl

1. %

fizxed interval reinforcement schedule

- fAfead 3iauer geder g



fixed ratio reinforcement schedule

[GIEECEE G IR CE RG]

variable reinforcement schedule

4¢qﬁﬂﬁmgﬂﬁﬂﬂaﬁﬂﬁ

Question Number : 10 Question Id : 7150532305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Human learning 1s always purposeful and goal directed and 1s essentially based

on one's cognitive process 1s the essence of

Hied 3O gHR 3egeaql 3R oy HERIA giar & aur Jieard w9 & e
ST T GAICHS 9ihar ¥ =33 giar ¢, 3% 389 Tafid ¢ -

Options:

Trial and error learning

S 3T el e

1. %

Insightful learning

2. ¥ -

(Classical Conditioning learning

- ATEART Jfefaere s



Operant Conditioning learning

. TohaT 9ada 3eTaersT e
%5 Ty -

Question Number : 11 Question Id : 7150532306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The propounder of ‘observational learning’ 1s

IHaeilhaAcH® IR & 9fguces £ -

Options :

Bandura

..3
1.4

Carl Rogers
Flel Uty

Vygotsky

TN

Pavlov

IGEIE

Question Number : 12 Question Id : 7150532307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

According to Ebbinghaus. the amount of material forgotten after a lapse of

20 minutes 1s

vl & 3ER 20 e 1 wAfta & geard e awE & A g g -

Options :

Tab%

60%

47%

66%

Question Number : 13 Question Id : 7150532308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Learning of Hindi helped the student to learn Sanskrit. This is

TEEr &1 3 ol # Hhd Ui@e 3 Heg Aal ¢ | I ¢ -
Options :
Negative transfer

HUMcHS FATATAL0T
’|_%’-3



Zero transfer

#® N .
2.

Lateral transfer

qIfedes TATHTALOT

Positive transfer

edlcHS FATATAL0T

Question Number : 14 Question Id : 7150532309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the teaching learning process, identify that indicates child centric

environment
TRIeToT TElereT 9fham A, A1 Figd araeror FF g are [Aeed FI 9gae HIev
Options:

Teacher transmits the knowledge to students in the class

fereter e 3 ©ET H A FT TYROT HLAT § |

Students paasively receive information from the teacher

o AT 9 @ Riete O =R 9eg $14d ¢ |

Students engage actively in the classroom activity

- ST I FETheT fohameremal & T &7 I e fFar Jrar g |



Teacher giving information from the textboolk

. RIeTe drogqras ¥ SHR Yeie Xl § |

Question Number : 15 Question Id : 7150532310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

An individual with an IQ of 40 1s considered as
o eafa S Sgfer afeer (1Q) 40 BT § | 38 A= rar ¢ -
Options :

Idiot
HAgH

1. % -

Imbecile

Tefere

Moron

3ed dq ['S-T

Profound

Mg i

Question Number : 16 Question Id : 7150532311 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Bruner, in Iconic stage of Cognitive Development, things or events
are 1‘@1}1‘&5&111’5‘(1 as
T & ITAN HeAAcHS [FR TR qiaar ae # awe iR geat 3|
YN GRS S § -

Options :

mental pictures

1 a=fas gfafaet @
actions
, x TREBTE

symbols

|, e

language

4 % FETH

Question Number : 17 Question Id : 7150532312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Guidance’ 1s a process of
e ST ufhar § -

Options :



glving instructions to the child

| w T G oo

teaching ethiecs to the child

. I Ff dAfdear Gae
2.

directing the child to behave in correct manner
; e 1 T e U gagR e 1 e oo

assisting child in malking wise choices

4 I=d FI gl =T o 7 A F

Question Number : 18 Question Id : 7150532313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following is the characteristic of Authoritarian leader

frrfafad & & gg foReer Adr & oo § -

Options :

leader imstructs members what to do

SIdT "EEAT @l I HLeT & ool &ar & |

1.4

group members tell the leader what to do

HHE & HGEd oAdl # F el & 6T &d ¢ |
2. %



leader discusses with members for doing any activity

3 % P15 W B G F A0 AT TeTdt A T AT § |

leader works together with members of group

. a1 @ & HeEdt & Ay AR F1 Far g |

Question Number : 19 Question Id : 7150532314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Right to Education Act, 2009 received the assent of President of India on

fﬂﬂﬂmm.ﬁﬂﬂgﬁﬁﬂﬁﬁmﬁa?wiﬁrmﬁmgg_

Options:

26t August — 2009

26 31Ired - 2009

24t January — 2009

5.3 e
- 24 Sf=tadr - 2000

26 September — 2009
26 fddeR - 2009

26 October — 2009

26 IR - 2009



Question Number : 20 Question Id : 7150532315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s the simplest form of thinking

Fafa@a & 9 a8 [aa =1 g3 ade § -

Options:

logical thinking

1% SIEE BERG

creative thinking

dlcA® ddd

concrete thinking

Aa ae

critical thinking

elrgAcHs fiaa

Question Number : 21 Question Id : 7150532316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Retention time 13 extremely brief in
SUH U1 §AY 9gd HA gidl o -

Options :



episodic memory

EISIEIC R

photographic memory

hicanfhe Tfd

par CLTLOI‘HIB.]. Memaory

=TT T

Sensory memory

SEIRSSIC]

4. &

Question Number : 22 Question Id : 7150532317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement with regard to ICT based learning

ICT 3menfya 31TeRreT & Taer & TEr 2« 9gai«v |

Options :

It supports the learners in the learning

ag 3felereshar 1 dEeT ¥ TgrRdar Hdr ¢ |

1.9

It replaces all other forms of learning

Ig W@ F 3T PR F gfaeenfaa #ar ¢ |
2. ®



It 1z equivalent to all other forms of learning

- ag O@ & 379 9 & A ¢ |

It 15 a superior form of learning when compared to other forms of learning

i@l & 3o GHRI & dorell # Tg HiE@ed $T A6 YR § |
4. %

Question Number : 23 Question Id : 7150532318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify, which of the following is NOT a purpose of developmental tasks

fArAfafad & ¥ ug [AEmcas FR 1 3687 A ¢ -

Options :

They guide parents what can be expected from the children at different

ages

d faffiest 3geemsit & geal & & 3fea &Far orar § 384 9 & Aa-fa
T ARG Fd ¢ |

They help teachers to segregate children as per their development and
assign age appropriate tasks
9 Tt T FFRT F IR W aodl F FUF = 3R I3 3 s9FT

, o THGA A AE FAE |



They serve as motivational forces for children to learn the expectations of
social groups

¥ et ¥ fore A @R A NG A s ¥ T R o &
A FE A Q|

They help to provide opportunities to children to learn and adjust

§ a4 g=ar @ di@s 3 gHEEET T & FTEL Yol Sl H Acg Fd ¢ |
4,

Question Number : 24 Question Id : 7150532319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This indicates that the child is NOT ready to learn

I cfir § & o @@ & v a8 g ¢ -

Options :

Disinterest

1.¢

Interest in learning

, . W ¥ 5

Sustained interest

o s
3.33



Intrinsically motivated

n 3iaflle 7 @ 9ig

Question Number : 25 Question Id : 7150532320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the following statements, identify the correct statement with respect to

individual differences among 1dentical twins

frofad &7 & gaAer awar # dafade Bieddl & Ja99 # T61 U 9gde
FIAT |

Options :

They are same genetically and environmentally

3Mefdieleh 3 qaEoia €9 & 3 UF A § |

1. %

They are different genetically and environmentally

3Teatleh 3R gAieRohy &9 4 9 3t & |
2. ®

They are same genetically but may differ due to environmental influences

y d IAARIF & § T § g A a0y 969G &SR0T #e §
3. ¥

They are different genetically but same environmentally

d Herafels & § (e § o 3etehr IAE0T UF TA= § |
4, %




Question Number : 26 Question Id : 7150532321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT a guideline of (NCF) — 2005
Artaf@a & @ ag NCF - 2005 &1 fern-Ader 787 ¢ -
Options :

connecting knowledge to life gutside achool
g g

m|ﬂﬁqﬂ$m6ﬁaﬁﬁsﬂaml

connecting knowledge to four walls of class room

FATeT I hedlheT T I SOl & Siler o |

maling examinations more flexible

qiter 31fee a=iell g A |

learning 1s shifted from rote methods

TR F Wd Jeufd & g7 fmar = |

Question Number : 27 Question Id : 7150532322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Among the following. which act of the teacher DOES NOT help in improving

divergent thinking among learners

foafofad # & R &1 78 e il & sl ’ad & qur 7 g
oTel LT -

A) giving the activities that have scope for abstract thinking

O Toharehel arel foledt 3 il &1 asiger gl |

B) asking the questions that have uni-directional responses

U ool gl folefdh U feemcae wfdfrand gf |

C) asking factual questions

dZdicHs 9= H5e] I

D) giving assignments to bye-heart the material

A Y A T FE ST |

Choose the correct answer.
Options:
ABC&ED

1. %

A, C& Donly
FaT A C&D

B.C & D only

Hael B. C& D
3.¢

A.B & D only

+ad A, B& D

Question Number : 28 Question Id : 7150532323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The purpoze of using the Case Study Method in knowing about an individual or
nstitution is
U ogfad I1 GEA & X A Sl 9ed 6 A $F eI deuid F 390
H 3¢ ¢ -

Options :

to get quick results

offrer gfyoTeT 9red Fr

to study mn depth

dlpe] 3TEA e bl

to assess only weaknesses

hdel HHATLAT FT 3ol LAl

to understand quickly

offer TH=I=T |
4, %

Question Number : 29 Question Id : 7150532324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Childhood 1s called the ‘ideal age’ for learning motor skills. Identify that DOES

NOT reflect the said statement

AAIcHS Pierell wf H@ & o0 deg@aear Hi HGY FaEr &gl Aar g | 0
faweq &1 gua ffev o =7 Foa & gfafafaa a8 & ¢ -



Options :

Their bodies are more pliable

AT 2T 31T odem glar € |

They are more adventuresome and eager

4 3fge wgdr 3 30 Bd ¢ |

They enjoy repetition and practice with enthusiasm

d SIgUd FI e od g 3T 3cag & arer 30y 3 § |

They learn under pressure created by the adults

d 931 & garT 3cTeel fhU AT Gard & 3 d@Ed g |
4,

Question Number : 30 Question Id : 7150532325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Reducing the play time to children because of their low achievement in

academics 15 an example for

fRIeT & o IYAfYT & FROT ITdl & Welel & THT B HH HLAT STH IGEIT g-
Options :
Negative Punishment

|, TR 03



Poszitive Punishment

OFNIcHS Gs

Negative Reinforcement

- ABRICHS Jeldolel

Pozitive Remnforcement
4 % HhRIcHS efelclsl
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)
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fAr=fefEa e gfew | Bw v geat 31 9§ 35 & §@ 3/ Ggaiv |

HBOITT Tigel ol HelST F GUHA Foled Tg Q@ § (9 36 o ool Pl &1 3R
HOF § | Tg a1 Teld § G IS AT g UF FH F Fohal ¢ | 1S FeeThles
Tannias yafaal & F & Hedaedd gasd o HR e 9 F§ dhedr @
HUR A o | S eyl & 3TAR 3egia A 4 Relgld H S FEd G-
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AFT Fell & | 9§ T TG AR 3P Fell § | 3 SR qawd I H @
Hhelal fAerc § |
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
dEeecTthics 38 SR o1gl Aldd o -
Options :

qiys e &0

1. %

TasIides 9aiaal i

2. %



HBeldl &l

4wﬁwmﬂﬁﬁ

Question Number : 32 Question Id : 7150532328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
T IS HAST L 1A HT Thll § | TCIIM H 3 UROT FI AT IR ¢ -

Options :

1 % 3tad

Question Number : 33 Question Id : 7150532329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
= & B & I H 9dT Ielel 9 FIT L1 AIgU -

Options :

Fid AT dAAF I FT AT FLEAT AT |

1. #



- it @ 3ifee afveer Fwamr afge |

3dmﬁaﬁwﬁ3ﬁrﬁmﬁﬂﬁﬁaﬁv|

) w HOTEY J1e1 1 TR & afge |

Question Number : 34 Question Id : 7150532330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TG 3 3csc ereal &1 AT sHF ol §37 § -

Options :

ATd T FH FLed FT &7 & o
1. %

5 x SEIERC SHAHE F 99 F e

L o 5 R e ¥ e

HIH-7E I Theldl & 0T

Question Number : 35 Question Id : 7150532331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



T H JYFd THGIATdS TAT UG o -
Options :

clsahl
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Question Label : Comprehension



ferrtaf@d geaier gfew | Gu arw geaf 36 & 40 & HEr 3a¢ Jgalfelv |

arad i o Tdd gee
99 9Rafdd 9sfd der |
AGHR 99d IR
39 HEH TI-HHA B,
3idelleh @I g a-a1

A I # 9 #7gR,
foras ol & ger are
gqor ar e § faemer
I & aita T ssn
Hg H A9-+" 3dfeld &
I T eifsal & "y
d § T Y i |
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Question Number : 36 Question Id : 7150532333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
g H U Fcl & AU § -

Options :

| % G R

T Fd

2. % “



Question Number : 37 Question Id : 7150532334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Options :
ool H

1. %

, oA

Question Number : 38 Question Id : 7150532335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SAT & Gae & AAd HUF Igaiav -

Options :

1'JF|€FEFF311WB‘TIHWI%“§I
, TEAH H AT FT HIR R ¢ |

- Al @ «f2al § et § |



SIET 3c9ed L 3§ ¢ |

Question Number : 39 Question Id : 7150532336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
HEH CI-HAT ° dcad § -

Options :

|« GPsT IS T i
. Al dd 1 316
3_JBG|RT. geq w47 3

L goRl % &7 316

Question Number : 40 Question Id : 7150532337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I g H #A9e arel 394 JgE F @R g0 ¢ -

Options :

1.8 N



L

4 % dlel

Sub-Section Number : 3
Sub-Section Id : 715053118
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150532338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

AT AHRT AHF Toell W IS0] G I 36 QR 8 dFA1faa o arn o

Options :

Question Number : 42 Question Id : 7150532339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Ffd ReHIeTd & 3T ST & &R F 35T 9Ieg 207 -

Options :

J2dRreT dige

2. %

3. ¢

Question Number : 43 Question Id : 7150532340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Hid Aclg FAR F FTedl —— # g37 o | N Tl A1 qfcd & forw ey fased ¢-

Options :

| % 1900 &

, % 1908 &.

L% 19128

, v 1923 %



Question Number : 44 Question Id : 7150532341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
FE A el us ¢ -
Options :

B & HEr S &

1. #

A foe §
2. %

3 TG BCH

4% AT I

Question Number : 45 Question Id : 7150532342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TREATHA T GAET & AR ¢ -

Options :

12;53-.iti"_—r

2.9 -

3 x HTECHRROT I



Question Number : 46 Question Id : 7150532343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
IREARUT 3UTEATT garll Ied 915 ¢ -

Options :

| w SGel 39l A

)y Gl 3t e

5w TAUST FT aAE

citerafic

4. &

Question Number : 47 Question Id : 7150532344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
T WY F gEIENT G FAT AT | [l Ag § -

Options :

1 % Oy ofer

5 o TR



Question Number : 48 Question Id : 7150532345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
T A 4 g Tl oe=g gl ¢ -

Options :

Question Number : 49 Question Id : 7150532346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

argl arg! qAel ar FATel X fGar | ad # 9gad fauA ew waw § -
Options :

1.



Question Number : 50 Question Id : 7150532347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
afE gH dgigt SR df gF Ol FiS 91 g FUA | g 9 § -

Options :

Question Number : 51 Question Id : 7150532348 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3T §H 37 U5 - ol @ @l T IR W g, S dd gid of & o | @ifhd eq
1 7Y §-

Options :

Question Number : 52 Question Id : 7150532349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
WA Al A SFa-HAdl @ o ¢ | Wifehd Asq H FGad b o -
Options :
1 o ST
e

4, %



Question Number : 53 Question Id : 7150532350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Feltar = gt § 1 A A TR g -

Options :

Question Number : 54 Question Id : 7150532351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
gIffAg 1 a1dl ¥ SIS @ ggd TUgerT | 9 H 9P FIe § -

Options :
’| e ™, L2

2. % HICTer S[Prel

L)



Question Number : 55 Question Id : 7150532352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
eqfaal —— gial ¢ | Rea wne 1 9fd & o &g ey ¢ -

Options :

=
1.4

Question Number : 56 Question Id : 7150532353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1956 5. & HF @RI AN FA =127 AT -

Options :



AreafAs PR HEeT

Sard IR TellgehX Hsel

Question Number : 57 Question Id : 7150532354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
afe dEs & gHT W B 7 R w o fo@r Srar g dr 28 ST g

Options :

1 % ST {OT T 3T 2T«

Question Number : 58 Question Id : 7150532355 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fArT A & ag awdfese gl & AT 7G5 § -

Options:

. S 9 Sic-BIC gid £ |

1.

ZJHQHTHWTWW?M{TI

, x T F TG PG AGH A Gl ©

4% AU 7 AT A H Aged gl 6T Tl & |

Question Number : 59 Question Id : 7150532356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o F 31T HgoT AdTee yafa FAgfaar § | sudr 9fd sak canr g § -

Options :

ggamHr feRamat

1.4

I IO

T IYFHION
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Question Number : 60 Question Id : 7150532357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

TRTeToT T el F1 & ToIU et @1 Wod-as # —— AT TG0 | Nerd T
1 i & feiv @@ faswed § -

Options :
3R Teldiatel
1. %
, A TS
3, % W TS
ad Teldrstel
4.+ =
Language II English
SectionId: 71505372
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26

Number of Questions to be attempted : 26



Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053119
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150532358 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct
option for each question.

The curiosity which makes us come out of our room and leave our study when we hear
uproar 1n the street holds mirror to our anxiety about our fellow beings, though verging on
sentimentalism. Apart from that, this reduces the tedium of work. breaks the spell of boredom
and engenders in us new energy, and we go back to our work with revitalized interest.

How curiosity develops our personality and intellect can be best known from the study
of Wordsworth's and Shelley's lives. Wordsworth's curiosity led him to love nature. Whether
it was the enigmatic sound of the cataract or the rustling of the leaves he fed his senses to
satiety and gave us wonderful nature poems. Shelley who used to make startling experiments
like an Indian magician expressed his love for what was not traditional. And his poems and
life are only a vocal expression of lus fondness for the unusual curiosity of Keats kindled by
his first reading of Chapman's Homer made of him a poet of unique imagination so much so
that the sight of a 'Grecian Urn' could nspire him to write a wonderful ode.

In fact much m literature and art is curiosity translated nto singing words, immortal
characters and wonderfully eloquent pigments or stones. It is, however, a different thing
whether their curiosity to know and understand and to unravel the mysteries of human nature
was 1dle or otherwise.

Sub questions

Question Number : 61 Question Id : 7150532359 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement as per the passage.

Options:

Curiosity reduces the tedium of work, breaks the spell of boredom and engenders
1N US NeW energy.

Curiosity develops our personality and intellect.

Curiosity is translated into singing words, immortal characters and wonderfully
eloquent pigments or stones.

Curiosity may be the one which does not help us know and understand the
mysteries of human nature.

Question Number : 62 Question Id : 7150532360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘mysterious’.
Options :

1 % fuent

enigmatic

3 % immortal



cataract

Question Number : 63 Question Id : 7150532361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The author of the passage says., “Apart from that, this reduces the tedium of work...”
Identify the meaning of the word “tedium.”

Options:

1 ¢ dullness

curiosity

attraction

mystery

Question Number : 64 Question Id : 7150532362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Whether it was the enigmatic sound of the cataract or the rustling of the leaves he fed
his senses to satiety and gave us wonderful nature poems.” Whom does the author talk
about here?

Options :

Chapman
1. %



> % Keats

3 ¢ Wordsworth

4 % Shelley

Question Number : 65 Question Id

: 7150532363 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage, who is the author of the literary text 'Grecian Urn'?

Options :

Chapman

5 % Shelley

3 % Wordsworth

4. Keats

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

Question Number : 66 Question Id

2
715053120
Yes

null

: 7150532364 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The old woman to the temple every day.
Choose the correct option to complete the sentence.

Options:

1 % came

5 % has come

3 % come

coInes

Question Number : 67 Question Id : 7150532365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct word to complete the sentence.

Presently, the problem 1s that industries set up in the backward area because of
the concessions offered there.

Options :

1 % be

are



4. % Wwas

Question Number : 68 Question Id : 7150532366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

After their graduation, his daughters are searching jobs.
Choose the correct word to fill the blank.

Options :
for
1.+

OVer

011

n
4_ w

Question Number : 69 Question Id : 7150532367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Yesterday. I met him 5 PM.
Options:

1 % SO



oOver

of

at

Question Number : 70 Question Id : 7150532368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

They were for the bus, when the accident occurred.
Options :

1 % wait

5 % waited

waiting

4 % Waits

Question Number : 71 Question Id : 7150532369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.



Options :

restarant

restaurant

restaurent

restraurant

Question Number : 72 Question Id : 7150532370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct Passive Voice sentence for the given sentence.

‘The two warring groups announced ceasefire’.

Options :

1 & Ceasetire was announced by the two warring groups.
Ceasefire announced by the two warring groups.

Ceasetire has been announced by the two warring groups.

Ceasefire had been announced by the two warring groups.



Question Number : 73 Question Id : 7150532371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct option to complete the following sentence.

The son likes going for a walk,

Options :

1% do he?

5 % don’t he?

3 % does he?

doesn’t he?

Question Number : 74 Question Id : 7150532372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The children go toschool on bus.
A B L D

Options:



Question Number : 75 Question Id : 7150532373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

It I the Prime Minister of India. I would eradicate this problem.

Choose the correct word to complete the above sentence.
Options :

Were
Kdis

o % Was

33,51IS

will be

Question Number : 76 Question Id : 7150532374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the verb form to complete the sentence.
A: When did you come from Delhi?

B: I trom Delhi yesterday.

Options :



1 % come

5 cOoImes

3. came

have come
4. %

Question Number : 77 Question Id : 7150532375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the subscription which 1s NOT appropriate for a formal letter.
Options :

1 % Yours sincerely

Yours affectionately
2. Y

Yours faithfully

4 % With obediently

Question Number : 78 Question Id : 7150532376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The driver 1s _ man.
Options :

an honest
1. %

5 % a honest

3 % the honest

honest
®

Question Number : 79 Question Id : 7150532377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The shopkeeper feels gloomy due to the strike.

Choose the opposite word for the word “gloomy.”
Options:

1 % sad

5 % unhappy

happy

melancholic



Question Number : 80 Question Id : 7150532378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: The passenger ran fast.
B: He could be able to board the train.

Options:

1 & The passenger ran fast. so he could be able to board the tramn.

The passenger ran fast. but he could be able to board the train.

The passenger ran fast, however he could be able to board the tramn.

The passenger ran fast. if he could be able to board the train.

Question Number : 81 Question Id : 7150532379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The students are eager to learn.

Choose the synonym for the word “eager.”
Options:

lazy
1. % b



keen

indifferent

4 % dull

Question Number : 82 Question Id : 7150532380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word *debris’.

Options :

1. % d

Question Number : 83 Question Id : 7150532381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Choose the appropriate word to complete the sentence.

The naval exercise will include a large of ships.
Options :

bunch

heap

pride

4. fleet

Question Number : 84 Question Id : 7150532382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.

die/ would rather/ up/ She/ give/ than/ her freedom

Options :

She would die than give up rather her freedom.

1.
H She would rather die than give up her freedom.
3 % She rather would die than give up her freedom.

She would die than rather give up her freedom.



Question Number : 85 Question Id : 7150532383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an open-ended question?
Options:

_— What time does the movie start?

“ What made the potter angry?

3 ¢ Why do you think that the potter 1s really brave or lucky?

Who is driving the car to the temple?

Question Number : 86 Question Id : 7150532384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding Formative assessment at the secondary level in
Telangana State Board.

Options :

The average of four Formative assessments is added as 20 % of marks in the final
1.« results,

The average of four Formative assessments is added as 30 % of marks in the final
5 % results.



The average of four Formative assessments 1s added as 40 % of marks 1n the final

3 % results.

The average of four Formative assessments is added as 50 % of marks in the final
results.
%

Question Number : 87 Question Id : 7150532385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the true assumption of language learning.
Options :

Language acquisition 1s a CONsc1ous process.

Language 1s acquired not through recurrence but through repetition.

Learners’ first language plays an important role in learning of other languages.

All teaching strategies will work with all students

Question Number : 88 Question Id : 7150532386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Use of polite and entertaining expressions’. This 1s a feature of the following discourse

Options :



Biographical sketch

Compeering
2.9

Letter

Essay

Question Number : 89 Question Id : 7150532387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Example for ‘realia’
Options :

DIKSHA e-content

1. %

Blackboard

Handerafts

4. % Textbook

Question Number : 90 Question Id : 7150532388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The best way of comprehending the unfamiliar passage can be achieved by allowing
learners to

Options :

use smart phone to understand the passage easily and quickly.
1. %

write the passage twice 1n the notebook.

guess the meaning of the words and sentences in context.
3.9

refer a dictionary to know the meanings of the words in the passage.
4. =

Social Studies

SectionId: 71505373
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053121

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 91 Question Id : 7150532389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in the ascending order

e I A9AEE F TEr ARG P TgAIeT
12°6 - 1670 29°. 0%6. 487G, 16, <176, 476, 1670)

Options :

0% 19019, 400 498, 1290 1670 1600 2970

v ~169C, —49¢, —19¢C. 0%, 19C, 49, 129C. 16°C. 29°C

AN -, A, ATE 1270 600, 200

20901690, 1290, 4°C, 19C. 090, =190 =470 - 1670

Question Number : 92 Question Id : 7150532390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When it is 2 pm at ‘X' located at 45 Eastern longitude, the local time of a place ‘Y’
located at 45 Western Longitude 1s
o 45" el Gellee W T X' W GG & 2 A9 ¢ al 45 e duee W
e Y I & wE 39T gar g |



Options :

6.00 am
qrd: 6 o

8.00 am

qid: 8 Ja

5.00 pm

3 % Ud 8o

6.00 pm
AHA 6 ol

Question Number : 93 Question Id : 7150532391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement among the following regarding the Internal Structure

of the Earth
Q] &1 HdRE TN $ G A HEAfaf@d # @ g U H 95l

Options :

The outer layer of the earth 1s known as Mantle

| x TV ET SRl HAg PSR FEd §



The crust is mainly composed of Gold and Ferrous

i quSl ({UYEN) HE: el 3N dlg @ 6l §
2.

The density of the material in the mantle 1s more than the denaity of the

material in the guter core

30T & 9grT & Heicd 988 ddg & g1 & Heica § 3w glar ¢ |

The outer Core of the earth 1s composed of liquid metallic material like Nickel

and ferrous

qedT & 9l W [Haher I il o8 ater org Jerf & aer gidr § |
4.¢

Question Number : 94 Question Id : 7150532392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Geologists. weathering. erosion, transportation and deposition are

responeible for the formation of these landforms
HEATAolp] & 3eTAN 3T, SERUT, qNage 3N feiaor o s-3mepicar & feiaior &
oI SoerT ¢ |

Options:

The First order landforms

Y2H FH I EAATHiaEl

1. %

The Second order landforms

. clada &H &1 Trediaal
2.



The Third order landforms

Y s T TR

3.¢

The First and the Second order landforms

. ugel U4 cadid HH FH ErApaal

Question Number : 95 Question Id : 7150532393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Himalayan Mountains were formed by this process of

fgaTer qda &1 fA#or s@ gfehar & g3m
Options :

The Eurasian Plate pushing into the Indian Ocean.

AT ol & fgog APAPRN H gehel ST 4 |

1. %

The Indian plate pushing into the Eurasian Plate

ST e ¥ MR e 7 e e |
2. ¢

Rising up of Lava from the Mantle

- HEIOT & o6l & F9¢ 3o+ o

Sea floor spreading

FHg del & thelld @



Question Number : 96 Question Id : 7150532394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the items given under ‘I' with the items given under ‘II

ot ShfEar Fr fomse
I II
A) Loo 1 The cold local wind blows from the Alps mountais over
France
q Wi & I Ao Jad § 95 el oo TAWIT gard
B) Chinook 1. The Hot local winds that move down the Rocky
Mountains in the USA and Canada
oo 9 P g s G T R R P A
el 9dd & = T A Torel ¢ |
C) Mistral . The Cold local wind blowing very fast in the pampas
region of South America
foege afern i & T G % ag Aok & g a6
A g |
D) Pampero . The hot and dry local winds blowing in the plains of
North India
JFRY I AT & AR SA A delel drel 9 A TH
TR gal | ’
Choose the correct answer:
el 3 g
Options :

A-1v, B-1. C- 1. D-m1



A-iv, B-m, C-1. D-11

2.

A-1v, B-11, C-1, D-m
3.¢
4 % A-1v, B-m1. C- 1, D

Question Number : 97 Question Id : 7150532395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
These forests are found in the regions near the equator and close to the tropies
4 e ALY WM & fedhe 3T 3907 Hicaer & fedeadt &l 7 9= S § |

Options :

Tropical Deciduous forest

30T SheTaefim guigrdr g«

Temperate Evergreen forests

- ofidlsoT Hereg del

Tropical Evergreen Forests

ISRl HeegR del

Coniferous forests

LT I
4, % 2



Question Number : 98 Question Id : 7150532396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the Equatorial Crop among the following

fArafafad # @ sHeadg waer #1 9gare &Y

Options :

Rubber

1.« X

Cotton

o e

Jute

Tea

Question Number : 99 Question Id : 7150532397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Industrial locations are concentrated at the most appropriate places where

silcaifaie T waifds 3 el W Figd &

Options :



All the factors of industrial location are either available or can be arranged at
lower cost

sicailie et & @i FRF a1 o 3UeeT § A1 FF aEd W eaterd Y o
Ted ol

1.4

The raw materials for the particular industry are available in plenty only

faRly 3T & folv s Al Y= AFN A & 39 gl ¢ |

The cheap labour is available in plenty only

TEAT #H TG A A & 396 ¢ |

The transport facilities are available for transporting goods conveniently only

9Ragel glaerd &ael Aol & Fldulseid TNage & folv 3qeed § |

Question Number : 100 Question Id : 7150532398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Among the following. these states of India are sharing the boundary with

Telangana State
oo # @ 9rg & T Usg deldner TS & 1T O 9T & ¢ |
Options :

Andhra Pradesh. Karnataka, Maharashtra and Chhattisgarh

| 3T UG, Fefleed, FERISE U ORHIE



Andhra Pradesh, Tamil Nadu, Maharashtra. Odisha

- 37121 9CRI, diHeels, HgRIse, 3ifsem

Andhra Pradesh. Karnataka, Maharashtra and Odisha

378 922, ellcdh, HERISE, e
3. %

Andhra Pradesh, Karnataka, Maharashtra, Chhattisgarh and Odisha

32T 9cel, Feilcsh, HgHISe, Sdigde AL Aif=em

Question Number : 101 Question Id : 7150532399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This city of India has emerged as ‘the Electronic capital of India’

ST T Ig UL ARG T Selaclied A= & § & 3370 & |

Options :

Hvderabad

1. % I

Amritsar

2. % -

Pune

quy

3.% °©



Bangalore

4. & -

Question Number : 102 Question Id : 7150532400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Solar Insolation’ means
| gdarT 1 30t ¢

Options :

The energy that 1s constantly emitted by the Sun

ag Fofl o & GarT eRNdR Scafoid gl @l & |

1. %
The Solar Radiation received on the surface of the earth
AT $T Hag X wea G fafeor
2. ¢
The angle at which the Sun’s rays fall on the earth’s surface
ag @07 T8 W &1 0T g2l T Jdg W 9sdl § |
3. %
The amount of Solar Energy radiated back mto the atmosphere by the earth
el Gl aASE H 9199 3cdeiid G AT $ A
4, % &

Question Number : 103 Question Id : 7150532401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The southernmost tip of the Peninsula Plateau 1s

AT 9oR T §99 Gl 8RR g |

Options :

Malwa Plateau

Hicldl bl HolL

Aravali Mountains

el 1 ggIfsar

Chota Nagpur Plateau
iﬁEIFmﬂthﬁﬂT

Kanvakumar

Fe AT AN
4, & =

Question Number : 104 Question Id : 7150532402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the working capital among the following
fr=fofad & & wdehe ot 1 ggae
Options:
Tools. machines and buildings

| w STRUOL A 3R avEe



The raw materials and money required

2 GG Fedl Alcl Ud e

Technology and enterprise

3. % o

Planning and management

n Iioledl Ud Yaelel

Question Number : 105 Question Id : 7150532403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
During these three months, the Tundra regions are almost dark

geT ilel HGHAT & QNIeT 237 &1 oaTsHar 3/ A B ¢ |

Options:

May, June and July

- HS, o1 U4 S[ells

November, December and January

2. %

March. April and May
L, T s 3



August. September and October

391, e 3R g

4, %

Question Number : 106 Question Id : 7150532404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The amount of mnvisible water vapours present in the atmosphere 1s known as

argHsel A 3UTEAd HeYd STefdrey $T AT &l #7 Fgd §

Options:

Humidity
1.4

Condensation
2. % WEe

Evaporation

ATsyIehIoT

Precipitation

asT

Question Number : 107 Question Id : 7150532405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

From among the following Group. the countries bigger than India in size are

foifaf@d @9 7 3R A AN § a3 ¢ §
Options :

Canada, Rus=si1a, Thailand and Brazl

1. %
Russia, United states of America, Indonesia, Brazl
&, TFd T AN, SSARAT, arsiier
2. ® '
Australia, Canada, Brazil and United States of America
e e, e, arsiiel R Tged Tsa AN
3.¢

Australia, Brazil, China and Indonesia

. ST, grefie, et 31 SS=iteran

4.

Question Number : 108 Question Id : 7150532406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1774 CE. the representatives from 12 American colonies met at this place to
protest agamst the British and requested the King George III to restore their

previous rights

1774 . & 12 39T 3afael & gfafafedr o e & sy s ®e | doh
1 3R R SIS T @ 3efh qd AURR dgTer e 1 IR foh

Options :



Georgia

SATfaar
1. %
Connecticut
5 % TFellaede
Philadelphia
3. %
Massachusetts
4, % E

Question Number : 109 Question Id : 7150532407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The collection of taxes namely ‘Tithes and Taille’ were azzociated with this

Revolution

g 3i o AHE FU F HIE 38 Fhed § oS o7 |
Options :

The American War of Independence

AT Tadar dane

The French Revolution

ST hifed



The Glorious Revolution

3_%-5

The Russian Revolution

4

Question Number : 110 Question Id : 7150532408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The person who helped Akbar the Great in framing a vision of Governance around
the idea of ‘Sulh I Kul’

ag Ifed o8 "Gog-U-Fhel & [daR & So-[1¢ AFT FT TioehlvT I e &
ST T 61 G -

Options :

Jahangir, Akbar's Son

SIGIANT, el &l 99
1. % &

Tansen of Gwalior

Zwmﬁﬁm?}?amﬂ?r

Abdul Rahim Khan I
3tsqel TG @it I

3. %



Abul Fazal

Sisdel afel

Question Number : 111 Question Id : 7150532409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The seven tombs of the Qutub Shahi rulers marked a unique architectural style

which was a mixture of

PG AR HT H e T 3Hegor F19c <Aell 1 gl ¢, d fopaar f@mor off 2

Options :
Persian and Hindu Style

- ST 3R fgeg el

Gandara and Hindu Style

MR 3T g, el
2. %

Indo-Sarcenic Style

gsl- ORAfs el
3. %

Indian rock- cut architecture Style

. AT Uh-Fhe el gheir

4.

Question Number : 112 Question Id : 7150532410 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rights of a person arrested under ordinary circumstances 1s laid down i the

AT RS 7 FRear B 0 cafed & sfaer sae Auifia & |
Options :

Right to Equality
AT &1 3fEFR

Right to Life and Personal Liberty

Siigel 3 =afedeag Tadaar & AR
2. %

Right to freedom of Speech and Expression

dierer AT Jfaeafda & waaar &1 fasr

Right to Constitutional remedies

Haenfas 39anrt &1 3fEarT

Question Number : 113 Question Id : 7150532411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the incorrect statement regarding the Legislative

Council of Telangana State

frfaf@d & @, demer U9 7 fue afivg & 99 § Teld U 9gdie & |

Options :



3 members to the Legislative Council are elected from teachers

fererer aitwe & o 3 "ery M § d 9o &d § |

1. %
3 members to the Legislative Council are elected from Graduates
fererer aftwe & AT 3 dee Tds a1 & =<1 &1d ¢ |
2. #®
16 members to the Legislative Council are elected by the members of the
legislative Assembly
faerrer aftwg & foiv 16 W faerrsl @ & WGEAl qanl el oird § |
3.¢¥
6 members to the Legislative Council are nominated by the Governor
faereT 9Rug & T 6 HeEy, MR ca@T AHIRhd T ad § |
4, %

Question Number : 114 Question Id : 7150532412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, Identify the incorrect statement regarding the Unification of

Germany

frafef@d & @ F9 & Theor & G99 & Ted FUd $T 9gdie F |
Options :

Till 19t century, Germany was divided into number of small kingdoms and

they were part of the Holy Roman Empire
19 df areCT O el @s @l Uodl 7 Afad o 3N 9 9fdq 99 g
I foeam o |



Rhine Confederation was formed with 39 kingdoms

I@Hqﬁﬂﬂﬂmagmaﬁﬁwgaﬂm

2. ®
A customs union called ‘Zolloverein® formulated some trade rules for free
trade. economic cooperation in these kingdoms
AR AHS U QAT Yo JY of 31 Tl H A% AR, 30F Fgar &
o 75 R FaE 9 |

3. % )
Ems telegram was associated with Austro — Prussian war of 1866
TR ol 1866 & JACCI-IfRIAT Jgu & 3T 37 o |

4.

Question Number : 115 Question Id : 7150532413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In most of the Spanish ruled countries. all the powers were vested m the hands of

Supreme Council located at

T et orif 1 arlr Afeqar ag1 ud gafea 9ig 7 &R off |
Options:
Berlin

afeleT

1. %

Lishon
2. %



Madrd

Question Number : 116 Question Id : 7150532414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to this, no European power would be allowed to build the colonies in the

American Continents and the Umted Statez will not interfere in the affairs of

Eurgpe or their colonies in other continents

SO AN TR ot ZUO efdd AR Agedidl A U aele H A
Ag & SR A dgEd Usd IARET 3T Agledld A T A 3T Jufddel &
AT 7 GECRT Aal ST |

Options:

Marshal Plan
AT OISl

1. %

Munroe Doctrine

2. il

New Deal Poliey

3, x TSI R



Carter Doectrine

T e

4, =

Question Number : 117 Question Id : 7150532415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Chmese allowed the Europeans to conduct trade with Chma through this port

difelal & S8 deIg & A ¥ GUNT ARl I el & F1 ANR R B 3T
arl

Options :

Port of Shantou

M3 T dclalg

Port of Hong Kong

Port of Macao

HHIHT FT d960Ng

Rocky harbor
Ul dGLang

Question Number : 118 Question Id : 7150532416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Among the following, these adivasis lived in the forests of Odisha

eateif@a & ¥ I nfeard 33 & Serer 7 | o |

Options :

Baiga and Muria

o 3t A

Koya Reddy's

5 % PIAT 1ESr

Saora Adivasis

gr3f feardr

Munda Adivasis

T ST

Question Number : 119 Question Id : 7150532417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the cause for the first world war

fHe=AfofEd & & 78 v 92# faeagey & FROT 57 o |

Options :



Militarism caused tension between countries and rivalry as they struggled to

outdo each other as the most powerful

degare o g & & dara AR gfdedefddr dar $ FiEh d gad Afedemel
gl & for th-gay & I Flwes & AT @EY a1

Imperialism was a motive of making countries stronger and more powerful

which led to tension between countries

HHGTAlG F1 AFHG o 1 Aordd AR 3T AfFasmel aawer o S i &
4T qelta YeT gl o |

Alhances were mutual military agreements between nations which led to

tension and rivalry between countries
TG T & dr e e geEila O foaw &t & f aee 3R
. Scgefaar der gier o |

Sinking of American Commercial Ship by German troops
S Afepl q@rr AN arfoIfsaF SigeT T garr
4.9

Question Number : 120 Question Id : 7150532418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In October, 1917, the Soviets under the leadership of this party seized power from

the Provincial Government

3eheat 1917 # 3§ Uiél & aAded & @fagd o iy HN 9 eatl A fordr

Options :



Mensheviks

EHIEED

Bolshewviks
GIEIGED

The king. Czar Nikolas II
T, oY e 11

The Democratic party

dlshditas 9rct

Question Number : 121 Question Id : 7150532419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Adolf Hitler assigned the responsibility of economie recovery to this economaist

Usfet fger o 38 e & e gor 1 fowAgr didr
Options :

Hjalmar Schacht

gl Thace
1. %

Wilhelm Ropke

faegs U9+

2. %



Norbert Thorn

e

Alfred Muller Armack

3Teths Heleh 3#S
4. %

Question Number : 122 Question Id : 7150532420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
This person was appointed as the constitutional advisor of the Constitutional

Drafting Committee and he later became the First Indian Judge m the

International Court of Justice in 1930

5q <Ufdd 1 Gdunfes awler WAl & ddurids Golgh & &9 & fogFd fear
oI 3 9g 91 7 1950 7 JFIUSET =T el H 9gel HRAT wararder 94 |

Options :

Md. Sadullah
1.% =2 Zk"

B.L. Mittal
, w S e

D.P. Ehaitan

S d. Wa=
3. %



Sir Benegal Narsing Rao

T d=33Te SA9T a9

Question Number : 123 Question Id : 7150532421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The term ‘Tsunami’ has been coined from the Japanese words ‘tsu’ and ‘name’,

which means

Gl 2T ST 2 ‘tsw’ R ‘name’ § Ao a9 § TS 3rd
Options:

Port and Tide

deEng 3 sER

Harbour and waves

detang 3R ogl

Port and Sea Waves

delIg R THAT B

Port and Ocean Current.

461N Ud HEHEEH 4HT

Question Number : 124 Question Id : 7150532422 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The International Cricket Council (ICC) was shifted from London to

3RS fohdhe @isfael (ICC) vige ¥ TgT TAIdd & I |
Options :

@atar

CiTery

Sydney

Dubaz

T

3.¢

Mumbai
HIg

Question Number : 125 Question Id : 7150532423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the women members of the Constituent

Assembly
froifad & O ve dfgua @em i Afger age a7 o |

Options :



Sucheta Kriplani

j, % SO AR
Sarojini Naidu
TS A3

2. % i
Durgabai Deshmukh
QIS G

3. %

Annie Besant

4 v TN ERIC

Question Number : 126 Question Id : 7150532424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the Government will not be run on the basis of any religion. Citizen will
have complete freedom to follow any religion or no religion at all. It means

IRd & 5l 4 F MR W WER A8 goul | AeRe F R o e @ ured
Fe A7 el o et 1 arere o e T 9l Ecr g | SHe Ade ¢ |

Options :
India 1s a Sovereign State

ARG U 89 T ¢ |
1. %



India 15 a Sociahist State

AT U% FrATSEE U9 ¢ |

India iz a Republican State

- 9Rd UF 0TS I ¢ |

India 1s a Secular State

HRA U AT T ¢ |

4. &

Question Number : 127 Question Id : 7150532425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there are differences between the two houses of the Indian parliament in passing

any ordinary law, then the final decizion shall be taken in

e, el AT Flefel 1 GIN He A AR GG & el Heel & drg AHG gl
ar sifas v agt o s |

Options :

The Lok Sabha only

| A T A

The Rajya Sabha only



The joint session of the Parliament

e & Ggd 99 |

The Cabinet meeting headed by the Prime Minister of India

4% AR & T #HAT FT 3emerar # Fiase do A

Question Number : 128 Question Id : 7150532426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Swami Vivekananda set up the Ramakrishna Mission with these objectives

T fddeeteg of Segl 366l i ol UAFSUT [AE T FA9ar & |
Options :

To make the people believe in one Supreme God and to revive a reformed
Hindu Religion

o3l T Uk Fafed $eaT A favard el iR ve guid foeq oaf @l gefoiiiad
2G|

To make the people engage in Social Work and Social Service for

International Reconstruction

HaUedra gefidoT & for et & aefsies S 3 gEfeis dar 7 dele



o revive a reformed Hindu Religion and to engage 1n Social Work and Socia
T f d Hindu Relig dt gag Social Work 1 Social

Service for national Construction

U GuTild fgeg o @ gerelifad Fer T Uedrr fAor & ol weiei S
3R grEifoish Har & Teldd el

To preach ahimsa and to revive a reformed Hindu Religion

T 1 JuR Fe 3R v guilid @eq o 1 gesiifad seer

4. %

Question Number : 129 Question Id : 7150532427 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Muslim social reformer who started a journal Muallim - e - Niswan for
Writing women's 1ssues

AREeH FA JURS Toiegld At & Aegl W foi@e & foiv #3ifeem-u-fefedm
qiehT YE I

Options:

Mgohib Hussain
N |

1.4

Abdul Quayyum
2% % ~

Sir Syed Ahmed Khan

T HaG HgHG G



Nazar Hussain

4w AT et

Question Number : 130 Question Id : 7150532428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It shall be the duty of every citizen to maintain ‘the unity and Sovereignty of
India’, 1z a

Uehll 31 YT I S0 T@ell Godeh AR & Fcled gan Ag U ¢ -
Options :

Fundamental Right

Fifew 3R

Fundamental Duty of a citizen

U AN &1 Alfes Soeg

2. ¥

Directive principles of State Policy

T & =il f=idees Reged

3.

Economic Right of a citizen of India

T & AN FT 37TF JiEwr
4. %




Question Number : 131 Question Id : 7150532429 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By 15% August, 1947, these three princely states had NOT agreed to sign the
‘Instrument of Accession’ with India

15 301 1947 a& A o Naad 90 & G e 99 1 gl & & ol
HEAd gl & |

Options :

Hyderabad. Kashmir and Jodhpur

gaddrg, FRAN AT ey
1.% i
Kashmir, Mysore and Hyderabad
- FreHIT, AW 3R gewang
Raipur. Kashmir and Hyderabad
¢ T FIRAN 3R e
Hyderabad, Kashmir and Junagadh
gadEre, AN 3R SARE
4.

Question Number : 132 Question Id : 7150532430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The Election Commission of India 1s a
AR FT T 3T ¢ |

Options :

Quasi- judicial body

= Fa

Judicial body
e S

Autonomous Constitutional body

W gdurfas Faa

Statutory body

 denfes HeRT
4. %

Question Number : 133 Question Id : 7150532431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the country located in the Indian Ocean

fA=fofET & 4 Rec Agraer & &g 2o 1 9gae a7 |

Options :

Madagaskar

HSEER

1.4



Taiwan

disdle

Bermuda

STHET

3. % =

Jamaica

STHTSHT

Question Number : 134 Question Id : 7150532432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rate of GST for Televisions 18 18%. The maximum retail price of a TV 18
Rs. 70800. The amount of Tax to be paid to the Government for purchasing TV 1s
cfotfaster & foidr off vg & &1 &7 18% §. Ue &l &1 3ifdiehad @ Hed 70800 @
ar A1 Tlie W AER 1 & & e F A R g

Options :

712744
1. %

10800
2. %

L % 9000



714744

Question Number : 135 Question Id : 7150532433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT a Characteristic feature of Developing Countries

fArfofad 7 @ v faareier oot 7 fadvar 78 ¢ |

Options :

Having Low Per Capita Income

1. %
the problem of Unemployment and underemployment 1s observed
Rl 3R SeRIsEIR @1 Ja e ¢dr 1= § |
2. %
Presence of excessive dependence on agriculture
HY 9T 3cafeie [Faidar &1 gl |
3. %
Having Low growth rate of population
y v SITHET 1 gefe gt @A glell

Question Number : 136 Question Id : 7150532434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following. the rate of interest 1s higher on these deposits in India

@ ## @ arg & =9 FAET W A ol JEF ¢

Options :

Saving Deposits

1. % A

Current Deposits

2_ W o ST HT
Fixed Deposits
3 ¢ grafer SFAT
Recurring Deposits
~ ¥TEdt S
4, %

Question Number : 137 Question Id : 7150532435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India. the biggest commercial bank among the following 1s

ST H g9y 937 aifvlfeas dF § -
Options :

Reserve Bank of India

133%1??11?%‘&@?



State bank of India

Axiz bank

3 %

ICICI Bank

3 &3S o S A
4, %

Question Number : 138 Question Id : 7150532436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT the function of World Trade organization

farafofad # @ ve a9 camR 9o &1 F1F =857 ¢ |
Options :

It provides monetary support to the developing countries to enable them to
conduct trade freely
7 Taeraelier ST &1 TaT €9 § UMR He # HeH deli & fav #Alfgs

v BT 91T T & |

It seeks to resolve trade disputes

5 % R faarel 1 gerse & o

It acts as a forum for multilateral trade negotiations

agagﬁnwmﬁ%ﬁtwﬂa%mﬁaﬁmél



it ensures that trade flows as smoothly, predictably and freely as possible
a5 GARTT FIT § & LR JARIHT JArE, Jaiaiad AR w@&dd &7 4
4, % SN

Question Number : 139 Question Id : 7150532437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By this policy/commission recommendation, Continuous and Comprehensive
Evaluation (CCE) was made mandatory to introduce in schools as an important
step of examination reforms and for the qualitative improvement in the education
system

8 f/smnr 1 B & cam, sler §uRl & @ Agcaqyl FoA & ¥ 7 3R

e gomelr & JoncAF uR & AU TRl § Hod W AF Aedida (@)
Jiieiard Sefrar I/ o

Options :

National Policy on Education — 1968

e fRieT Afd - 1968

1. %

National Policy on Education — 1986

5 e e o - 1986

Secondary Education Commissign — 1952-53

AreTAF 218 J™ET - 1952-53

3. %



Indian Education Commaission — 1964-66

4 % R fRIE 3T - 1964-66

Question Number : 140 Question Id : 7150532438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Development of right type of behaviour and conduet’; and ‘skill of finding solutions
to the social problems’ respectively are known as

el IR & AR 3R 30T &1 [ AR aAfes gaest & A dise
T I HHA: Fgl AT ¢ |

Options:

Both are aims

Gt

Both are objectives

alel 3662 ¢ |

Objective, aim

EIHA TN 0|

Aim, objective

oIEd, 362

Question Number : 141 Question Id : 7150532439 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 13 NOT TRUE related to merits of spiral
approach?

Hiter TfRer & Jpit & TR Prefafaa § & 3 @ 7 5T A Y
Options :

Content difficulty is according to the level of students

o FFHa el & ¥ & HTa gl ¢ |

1. %
Teaching 1s done based on the student’s mental level
faeanif & AWfE® TaT & R W RE0T AT Sdar g

2. ®
Due to continuous repetition of content retention of concepts in students will
be for long time
A A Y GaERd & SR OE A IR0 F TR o T T a6
gty

3 %
Logical /Rational thinking will not be improved among students
N A difdhes | TG dT A U A6 g |

4, &

Question Number : 142 Question Id : 7150532440 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



To show the crops grown 1n a village for one vear, this graph is most suitable

fodl 9d & Tk ¥ G glel dlell BHd g & [T Ig I Fed 39T ¢ |
Options :

Pie-graph

- qe - AH

Line graph

Er - A%
2_33

Bar graph

3 % <L A%

Time-line graph

THAT-IET ATH
4, ®

Question Number : 143 Question Id : 7150532441 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Constructivist approach focusses on the following things / aspects
Tgerare) efseeivr fes=Afelf@d ardr / qgel3it o &iegd ¢ |

Options:

Developing a situation; Transmitting knowledge; Exhibiting and reflecting

U Rfd 1 Tahr e A Gaild H6n: YGRid Har iR 9fafaa aer

1. %



Creating situation; making class as a whole; Questioning; Exhibiting and

reflecting

Eorfa T, el & TAT §T T Tollell, 997 lell, Fei2id 3T gfafEfaa e

2. %
Developing a situation; Grouping; Questioning: Bridging; Exhibiting and
reflecting
U FPafd @ faFr &, FAGIHIUT, TR &, el Yeild 3R gidfefaa
Gl

3.¥
Knowing famihar situation; Observing; Questioning; Exhibiting and
reflecting
aRfd i I S, Sfaclichel Tl 9o e, Feldd e 3R gididfad
el

4, ®

Question Number : 144 Question Id : 7150532442 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following tools should be used for Formative Evaluation (FA) at secondary

level
A THF T W ThellcHs Hodida (FA) & fov for=foi@d 3ueol & 39 far
ST TIRT |

Options :

Teacher reflections; Children participation; Slip test and project work

fRleter &1 gfafrary, a=ai 1 aeficr, odf 9detor va aRalser s

1. %



Children participation; Responses. Children's written work; Project Work

and Slip /written test

T=at 1 apEfie, wiafFad, a=a9t &1 ffEg +3: 9ofEear 19

Portifolios; Project work; Children responses and Ship test/ written work

qiEwiferr; aiiEieEr w1, aedt F gfafrart i g ¢ / ffEa s

Teacher observations; Children participation; Responses and project work

fereter 3faciidret, g=al o HREIGHT, iafFae 3l afigiser sr

Question Number : 145 Question Id : 7150532443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 15 NOT one of the advantages of social sciences?

frffEd # & i a1 Fua gefos @A & ol 7 8§ & a9 § |
Options :

Social sciences provide education for effective citizenship

gATSF a7 ward ARTiaar & O R ver #ar g |

Social sciences help in the development of values needed for democratic
soclalism and secularism

gAfoF a6 diead wAedr 3R g fEderar & ol siaeds Hedl &
T # #eg T ¢ |



Social sciences are helpful in developing language slkaills

iAo faaae AT el AT & J T ¢ |
3. ¢

Social sciences are useful in developing awareness about the problems of the

apclety

g [ TA A AT & a # SAIREhdl dhdd & § 393ET
gox O

Question Number : 146 Question Id : 7150532444 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study of biographies of social reformers, freedom fighters ete develops this kind of

values among students

TAST U T Galiedl 31fe 1 Safedi & 3eaga & fac@ia # 30 5an
F Al & G g g |

Options :

Inspirative values

1.¢Wﬂﬁ

Interpretative values

cATElicHs Hed

Vocational values

SRS Hed
3. %



Disciplinary values

AT ATcHS Hol
4, % 7 "

Question Number : 147 Question Id : 7150532445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This active verb comes under procedural knowledge level and remembering
category of cognitive process dimension

Ig gy @ daercas gfear 3 f afFacas a9 e 3 wor Ao &
o A ¢

Options :

Tabulate

v ol o AT

Classify

aafiepd HTem
2. %

Explain

e Al
3. %

Summarise
4% Hielcd e



Question Number : 148 Question Id : 7150532446 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement iz NOT TRUE related to psychological principles

of teaching

frfeif@d 7 9 &l &1 Fua RIeoT & Aidaies feyear § F6ied =50 gl
Options :

Principle of variety

fafaerar &1 e

1. %
Principle of motivation
9T T Heured

2. %
Principle of progressiveness
gariceirerdr = Ricured

3. %
Principle of recreation
Helllatsl &1 THeeed

4, %

Question Number : 149 Question Id : 7150532447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



‘The gazette extract published in news papers’ and ‘Judgements of courts’ are this
kind of sources respectively

AR 94 # YT 699 36RO 3R Sedl & ol wA: 38 R & Sl
g |

Options :

Primary source, Secondary source

grfAs Hd, gladas FEd

1. %

Secondary source, Primary source

., i i s e

Both are primary sources

glr grerfis =g §

3. %

Both are secondary sources

, el cfad i &

Question Number : 150 Question Id : 7150532448 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this phase of concept mapping, students find out new illustrations by thinking

and get complete understanding on various things
HTIRON ARV & 36 WO A, O o & qa 43 f ged ¢ 3 e da
T 9l §HH W L § |



Options :

Phase-I; presentation of abstraction

-1 3G T gEdfd

1. %

Phase-IV: closure

o7 - IV, deqq
2. %

Phase-II; propositional phase

THUT-2, S&ddicHs ILoT

Phase-III; application

4 =0T - III, 9T



